Math 71 Spring 06 Name: SO C(;(’r)'ﬁ/\/j
TEST 2 @ 120 points

Write in a neat and organized fashion. You should use a pencil. For an exercise to be complete there needs to
be a detailed solution to the problem. Do not just write down an answer. No proof, no credit given!

1. Find the quadratic function y = ax’ +bx +c whose graph passes through(-1,6),(1,4),(2,9). (6 points)
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2. Solve the following equations and inequalities with absolute value:

a) 2+l :% (6 points) b) x+% =|x-3| (6 points)
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Graph the solution set and write it in interval notation. Graph the solution set and write it in interval notation.
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3. Graph the solution set of the following system of inequalities. Show clearly how you graph the lines and

what test points you’re using. Clearly label the axes, the lines, and the points used. (6 points)
v
x>0 J A
y=20 6
2x+5y <10
]
3x+4y<12 2
3 \,“/e g
;\—
\x"g}_ )
7 L) >
~_ O)
A \\
M~/ L
7 4 v 4 ll\
yo AT Vs,
LLLZLLL 0
£ ° ‘1,0) ™~ ch;(
g)’\\ = R
P A
Pt &< 5

x>0 and (7>/0 <=> 7 7uaa’ran7

Z2X+5Y lO
Boun 407 lint | x4 Sj /00

Tert woial: (00) € Line
- /m oro L /0 Jrae

ﬁwm%«., 'ﬁ/\L /‘u;&?fi—! 06"’(
.S/\dlfa/ f"?’fsu . '

33X +¥¢y s ]2
JH!: 3)('%“:]:/2

Baw‘daa

6/ wve Fakf- paned s



e 4
4. Two graphs are given. Using the end behavior of a polynomial, match each graph with one of the given functions.

Show clearly your reasoning. (6 points)
f(x)=-2x"+x* g(x)=x’-4x’ h(x)=3x*-18x+27 p(x)=-x*-x*+5x-3
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5. . Identify all the asymptotes of the following graph. Clearly explain your reasoning (using the definitions

of vertical and horizontal asymptotes): - (6 points)
"
!
I
L |
1 \
Y=o IL\\” AN . '
N ‘ -;O ‘ . ; ‘ '=5 ""i"h—in.Ri"\ N "“\L\‘\i fJ : =5 ; ; N 1‘C ' ' l ’ PK
VERTICAL MPTPTET \J 1 A\
@ ﬁm& whea X => ) ‘ L \d
((ﬂ -t A v
\X'& M3m) ﬁ(aan whea X —> 3 T
J - _z &, €4

HORIPONTEL Ay PTITE

M émw*{u“’/‘%' * —>1&v, (7 -0



Cor S

6. Let f (x) =6x-3. Find M and simplify. (5 points)
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9. Find all values of a for which f(a)=g(a)+1 if f(x)=x+3 and g(x):x2+2x—3
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10. In the following, solve or simplify, whichever is appropriate
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Choose TWO of the following three problems @ 7 points each

L. A city commission has proposed two tax bills. The first bill requires that a homeowner pay $1800 plus 3%
of the assessed home value in taxes. The second bill requires taxes of $200 plus 8% of the assessed home
value. What price range of home assessment would make the first bill a better deal?

2. The function f (x) = ——i—xl +3x+17 models the number of people, f(x), in millions, receiving food stamps x

years after 1990.
a) In which year did 25 million people receive food stamps?
b) How many people received food stamps in 19967

3. James Bond stands on top of a 240-foot building and throws a film canister upward to a fellow agent in a helicopter
16 feet above the building. The height of the film above the ground f seconds later is given by the formula

h=-16¢* +32¢ +240 where  is in feet.
a) Calculate h(O) . What is its meaning in this context?
b) How long will it take the canister to hit the ground?
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EXTRA CREDIT - You may solve TWO of the following

1. Simplify x+———lT
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3. Suppose 12 kg of a certain alloy initially contains 3 kg copper and 9kg tin. Suppose you add x kg of
copper to this 12 kg of alloy. Define the concentration of copper in the alloy as a function of x,
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Total amount of copper

so that
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a) Find a formula for fin terms of x, the amount of copper added
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b) Evaluate the following expressions and explain their significance in the context of the alloy
33—/

3-#X '
7[/ O /.:z+)< /
ja+ zs
2 2
7[/{ - 7 /7# WW”MA +he
5 wuaa/lra:&;’&
200/ 4 GW’/ £

/wémx aﬂ?

A
/ /—/) //7‘ #e ot St o
we %méa

4 anl 9/

Wi




E)(/ﬁ’q‘ ; C/‘t.d(}‘

) , {
xr—d—— - . ﬁ
X + /
X+
X*—i X5+
X
’ /
= X+ R
X+ ’X X (x%7) + X
X*+) L
s 2
o4 X, 2t
X s x +X Py

by 2
wlex) #xH x ¥y s yr X
x®# X =

P

e

2
¥ )
v J 22X 7’/

AR A'S

~ [ 32 Sy i

NI

b et

£ =~/
by 2]

X~/

vz —(2-)

Y= —x+/



